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 ����g = 10 N.Kg-1 

  ���� تمرين    

	� ��� ��
او��  L =20 m+#.� -��,� $+&�آ� ()�'  ��&% $#�ن �!  ��  )أ�6� ا���5 (   ����	�3 �2	,1 ا���! ° α  = 30 °α  = 30 °α  = 30 °α  = 30  و$�0/ 
  
  . $	+��.�� $�+6.�� وا��ي �+&�ك و�@ إزا=  m = 5 Kgأ>�د ا��)ى ا�.,��3  �2 ا�.#�ن  ذو ا��2+5 ) 1 

 2 (�5+=Dى ا(��f ا�.,��3 $% (�ف ا����F  �2 ا�.#�ن  E)ة ك���ن 
r

F���2� ��از($   
  

 �+��H �IJ�-ة ا��)ة . و�- K	=أf.   

fأ=	K -�� ا��)ة  ) 3 
r

 F��ل ()ل ا����+�Dل ا/�     

f=�د �Eرة ا��)ة ) 4 
r

    �/ل د���E وا=�ة 2,5Tonnesا�#��� ه!  "  O� � -&% "   2.� أن  
  

  

 
  � مرين    ت

 ���� ���	
 ��
���
 ����L = 4 m   وآ����   m =10Kg  أ���� ��	و �� و� ���
 ��   )1ا���	�� (  ��
  

 �"��
  αααα=30°.�- ا�(�,+ *(�) %��ن زاو%� 
$�� ا���# ��	�� 
  
   F0�&ا� Q$ ) ��#R(3'  ) 2ا��  .آ.� ��3% ا���5 >�
   
   .ا���*���/أ�4د ا���ى ا�����1 .�- ا���# .$0 ا���	���/ ) 1
  

/ ا���	�� ) 2 ���
   ، :0د2 إ�- ا���	�� 1ا:�9 �78  وزن ا���# .0$ 
  

   .���	� ه<ا ا�=�7 
   
  

  �تمرين


��ر m = 80Kg ا��0رو�� .��رة ./ 
�C�D و
	0ات ا��C�D آ����.� 
0رو�� ذات آ��� �
	��� ا�����. Fو� ���$% ،    
 


�,� *Dاو%�  ������
αααα=20° +��H � �	�  ة�#+3� E)ى اD=+5�ك 5$���S ��). �   و
 

f =30N آ��ا�& �&�.� Tآ�#$ �&�$ �Iر و��	ر .   $)از�� �2.�	ل ا�.()AB =L = 1500 m 
 
1 ( ���� .�- ا�=�G
  .ا�4د ا���ى ا�����1 .�- ا�����.� ا��0رو��  و
  
��ك IJل ا
���ل ا�����.� ��ل ا����ر ) 2 �:Lى ا�M �78 9�:ا.  

�Q�Q Tا  ا���C�D����* +�Q ا�L�Pدي F�1% ا�(�� ) 3
r

    β =60°اQ��ه� %��ن زاو%�   

Tا:�9 �78 ا���ة 
r

 F*��ل ا����
Lل اIJ  
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  الغزيزال .                                     ذ تصحيح التمارين  فيزياء السنة الأولى                                            

  
        ����تمرينتمرينتمرينتمرين                                                         

� و��� أن ا���آ� �������� ���
 ا�����
�  ا���رو�� ))))1�����    

� �*�� ()ن ا�����ن �'�� $#" ا�&�ة و$#" ا!���  و�����ن ����آ��ن�

�0-�أ ا��,�ر  ( 
rrr

=+ PR( 
 
  ��1ب �2ة ا���ة ا����و$� ��!�0�1ك ) 2

��4��:    
   (o,x)ا���9ط 
67 ا����ر 

 
 
 

 
  :ع .                      ت                

              
.$       :P = f.L�D7 أن <�رة <�ة BCل إزاf      �������� �1<�رة ا���ة ) 3 ∆∆∆∆t )  رة�>��E�F (  

 ��5���د ا���ة ا�Bز�� �&�KgH�$ أن D7�$  I4�&ل ا��J Kg    32.5.10����$  K� 5kg ��ة �2� L7M�4  N  د<��� وا�1ة  و�
 
 
 
 
 
 
 
 
 

 P = 25.20.0,12= 60Wا�����ج ا���رة       
 

 
 ���� تمرينتمرينتمرينتمرين


67 ا���P  D7د ا)1 ��-Mى ا�����  

67 ا��D7 + ا��زن : اT(���   1  ا��F��� -      أ  VMا�� ��WX� )ن ���������ن���آ��ن  �'�� $#" ا�&�ة  رأ����ن <��ن ������  ) .و�

  

67 ا���IE 2 ا��F��� –    ب  X0��   : زن�ا� + [�)Tا VMا�� ��WX� +  IEا��� ��WX�  

  
  
2  ( ��4�� :  

W1---2(P) = m.g(z1 – z2)             
  

)����د <��� z1- z2(    K-$�P H0&ا� ��   
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  ا�&^H إذا ���وم 

  
        ����تمرينتمرينتمرينتمرين

  
1 ( H0&ا$*� ا�.  
   H^2f ا���ة ) 2

W(f ) = - f.L. =1500.30 =45.103J =45Kj    
 

  : ا��] M4-�'� ا��-H ا�#�!ذي H^2 ا���ة ) 3
  
���د �2ة ا���ة  - أ � T : N�`إذا ا��� ��*��    (] �1آ� �������� �
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